
Lab quiz 14

1. Parameterize the line segment that starts at the point (-1,6) and
ends at the point (2,-3)

(A) x(t) = −1 + 6t, y = 2 + 3t, t ∈ [0, 1]

(B) x(t) = −1 + 3t, y = 6− 9t, t ∈ [0, 1]

(C) x(t) = −1 + 6t, y = 2 + 3t, t ∈ (−∞,∞)

(D) x(t) = −1 + 3t, y = 6− 9t, t ∈ (−∞,∞)

(E) x(t) = −1− 3t, y = 6 + 3t, t ∈ (−∞,∞)
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2. Which of the following formulas would give the length of the outer
loop for the curve r = 1 + 2sinθ

(I) 2

7π
6∫
π
2

√
(1 + 2sinθ)2 + (2cosθ)2dθ

(II)

7π
6∫
0

√
(1 + 2sinθ)2 + (2cosθ)2dθ +

2π∫
11π
6

√
(1 + 2sinθ)2 + (2cosθ)2dθ

(III)
π∫
0

√
(1 + 2sinθ)2 + (2cosθ)2dθ + 2

7π
6∫
π

√
(1 + 2sinθ)2 + (2cosθ)2dθ

(IV)
2π∫
0

√
(1 + 2sinθ)2 + (2cosθ)2dθ −

11π
6∫

7π
6

√
(1 + 2sinθ)2 + (2cosθ)2dθ

(A) I and II only

(B) II and III only

(C) III and IV only

(D) I,III and IV only

(E) I, II, III and IV
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3. Which of the following formulas would give the length of the outer
loop for the curve r = 1− 2cosθ

(I)

5π
3∫
π
3

√
(1− 2cosθ)2 + (2sinθ)2dθ

(II) 2

5π
3∫
π

√
(1− 2cosθ)2 + (2sinθ)2dθ

(III) 2
( π∫
0

√
(1− 2cosθ)2 + (2sinθ)2dθ −

π
3∫
0

√
(1− 2cosθ)2 + (2sinθ)2dθ

)
(IV)

2π∫
0

√
(1− 2cosθ)2 + (2sinθ)2dθ −

7π
3∫

5π
3

√
(1− 2cosθ)2 + (2sinθ)2dθ

(A) I and II only

(B) II and III only

(C) III and IV only

(D) I,III and IV only

(E) I, II, III and IV
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